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http://farbe.li.tu-berlin.de/AEY 4/AEY ALONP.PDF /.PS; start output

N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

Linear relation CIELAB ( L*, a*, b*) and adapted (Q)CIELAB ( C*3p 5 L*)
Television Luminous System: TLS00a [« = (L* —L*v )/ (L* o - L*
lab* = ( N w L)

a*, =a*
CIELAB hue anglesRYGCBM: b*a o
hap g = [40, 102, 136, 196, 306, 328]; & a~ o
hap,e = [26, 92, 162, 217, 272,329] ~ 2 C*apa=la%s +b*%]

a*a= C*ab,acos hp
b*a = C*ap,aSin hyp

ei
N 2.. chroma a*;
[
[ ]
®

CIELAB data and Y for W and N: J

Similar to contrast step G/p15
according to ISO 9241-306, see

(L*, a*, b*, Y)=(95.41, 0.0, 0.0, 88.59)
(L*, a*, b*, Y)\=(0.01, 0.0, 0.0, 0.26)
AEY40-3N

Linear relation CIELAB ( L*, a*, b*) and adapted (ACIELAB (C*ap o L¥)
Television Luminous System: TLS06a (| * —|* x| *
“lapr = (L* —=L*n) / L*w -L*N)

a*,=a*
CIELAB hue anglesRYGCBM: b*a o
hap g = [38, 102, 136, 196, 305, 328]b* a~

2,172
hap,e = [26, 92, 162, 217, 272,329] ~ 2 C*apa=[a%s° +b*,"]

a*a = C*ap,a COS hyp
b*a = C*ap,aSin

chroma a*;

Similar to contrast step G/p7
according to ISO 9241-306, see

CIELAB data and Y for W and N:

(L*, a*, b*, Y)w=(95.41, 0.0, 0.0, 88.5
(L*, a*, b*, Y)N=(5.69, 0.0, 0.0, 0.65)
AEY40-7N

Linear relation CIELAB ( L*, a*, b*) and adapted (2)CIELAB ( C*3p 5 L*)
Television Luminous System: TLS11a s = (L% =L* ) [ W -L* )
a*a = a*
b*a =pb*

C*ap,a=[2a*3 Z+ b 2]1/2

CIELAB hue anglesRYGCBM:
hap g = [36, 103, 136, 196, 305, 328];
hape=[26, 92, 162, 217, 272, 329] 2

Y -
€ a*a = C*ab,acos hlb
b*a = C*ap,aSin hyp

chroma a*;

Similar to contrast step Gpg
according to ISO 9241-306, see

CIELAB data and Y for W and N: J
(L*, a*, b*, Y)\y=(95.41, 0.0, 0.0, 88.59)
(L*, a*, b*, Y)N=(10.99, 0.0, 0.0, 1.25) |
AEY41-3N

Linear relation CIELAB ( L*, a*, b*) and adapted (ACIELAB (C*ap o L¥)
Television Luminous System: TLS18a — (| * * x| *
“lapr = (L* —=L*n) / L*w -L*N)

a*,=a*
CIELAB hue anglesRYGCBM: b*a o
hapq = [34, 103, 136, 196, 304, 328] a~

2,172
hap.e= [26, 92, 162, 217, 272, 329] C*apa=[a%s° +b*,"]

a*a = C¥*ap,a COS hyp
b*3 = C*ap,aSin

chroma a*;

Similar to contrast step G/ps
according to ISO 9241-306, see

CIELAB data and Y for W and N:

(L*, a*, b*, Y)w=(95.41, 0.0, 0.0, 88.59)
(L*, a*, b*, Y)\=(18.01, 0.0, 0.0, 2.52) |
AEY41-7N

TUB-test chart AEY4; TLS00a, TLS06a, TLS11a, TLS18a input:w/rgb/cmyk —> rgb

and CIE elementary hue data in CIELAB diagréh b*)
Y

output: no change
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